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Math Whiz Unit 6 Review

Statistical Questions
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Interpreting and Analyzing Graphs
[image: ][image: ]






How many people were included in the survey?__________

What is the shape of the data?
A) skewed left	B) skewed right	C) symmetrical

[image: ]
What percent of Jenny’s data
is less than 15? ___________

What is the IQR? __________

What is the shape of the data?
A) skewed left	B) skewed right	C) symmetrical
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[image: Image result for histogram]
How many people were
[bookmark: _GoBack]younger than 11?
 (
Unit 6
 Mastery Score:
________________ / 1
7
)A) 1	B) 5
C) 20	D) 30

What is the shape of
the data?
A) skewed left	
B) skewed right	
C) symmetrical
Name:_________________________________

Interpreting and Analyzing Data

15.Find the mean and median of the data.
	35, 40, 37, 36, 42, 42, 34
a. mean: 38; median: 37
b. mean: 38; median: 42
c. mean: 37; median: 38
d. mean: 42; median: 37


16. Find a set of 5 items that has a range of 
      9, a mean of 15, a median of 14, and a 
      mode of 11.
a. 11, 11, 13, 15, 20
b. 5, 11, 14, 14, 31
c. 11, 11, 14, 19, 20
d. 6, 10, 14, 15, 15 
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17. What is the IQR of Fred’s 
       test scores? 
	a. 2
	b. 17
	c. 24
	d. 82


[image: ]
image1.png
1) Which question is a stati
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ics question that anticipates variability?
How do| rate the tase of ice- Does my father or my mother lke the ice-
cream on a scale of 1 - 107 O cream from the grocery store better?
How does my brother rate the

taste ofice-cream on ascale of D)
110

‘Which brand of ice cream is preferred by
the people shopping at  grocery store?
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Pieces of Pizza Eaten by Mr. Gatlin's Class
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How many more students ate 3 pieces of pizza than ate 5 pieces of pizza?
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What s the range?
What s the mode?
What is the median?

How many students ate at least 4 pieces of pizza?

Pieces of Pizza Eaten by Mr. Gatlin's Class
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Jenny’s Box Plot
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Jenny recorded the weight of 5 dogs. Each dog weighed a different amount. She recorded the

results on a box plot. Which conclusion can be made about the interquartile range of Jenny's
box plot?

4y Allthe dogs weighed 15 pounds

( The middle 50%of the dogs weighed
or less.

between 5 and 15 pounds.
§ ‘The interquartile range was higher than it
All the dogs weighed between 5
B) ond 15 pounds. D) should be because of the dog that

‘weighed 20 pounds.




image6.jpeg
Number of Peopl

05 610 1115 1620 2125 26:30
‘Age Groups in Years

MathBits.com

M&M as Favorite Candy
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